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o - , SAC
1) o H ~ ( )
VCApgr , 3%~4%
. ,SAC13 . s
, ( 7% ), s s
VCAL,  41.22%. o
41.52%  41.96%. GTM .
0.7 MPa VCALx  39.1%.39.58%
40.52% GTM 0.7 MPa )
1.5%~2%. GTM . ,
. SAC20 o
4-0% s VCA,c=40.23%;SGC . i
100 VCA= 39.89%, s
SGC 100 75 i
0. SSV o GTM ’ 3.1 VCA[)R(' (
SGC VCA])RF )
’ V(:A[)[g].‘ ’
. ,SGC
° Pm—i—Pfd—l—Pf,-ZlOO% (1)
s VCAprr : P
) GCADR(V ’ % ;P/, ’ % 3
VCAUR(," GCADRL p/l_ 0.075 mm (
GCApre GCApr & ) %
( ) o
’ ’ . o GCApre
: GCApy 1. 06 GCApics VCAm=[1-5 2 @
. GCApg 1. 05 GCApge o GCApre=0G} (o (1—VCApre) (3)
SAC13 G(;ADRL - :V(jA[)RC (
1. 619 g/cm® ,GCApre=1.799 g/cm?, s 40.23% 0.402 3);
1.709 g/cms, VCA[)R:42~ 75%; G(jADR(‘ vg/CmS’
GCA[)RL 1. 664 g/cms, VCA])R - ;G/,'L“ ,g/cm?’,

44. ZSV ° GCA[)[((':I- 111 2 GCA[)R[,O
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g9
VCAprr ,
(4) , ,
V. % s , )
) 3%~ 4%; Py ( , (1) VCAprr
)+ 3G g/em?; G g .
sg/cm®;Gy ,g/cm?, (4) ,
5] V. ,
, GCApreo ,
, , SMA10,SMA13  VCApe 40%
VCApre ; S ~40.5% . SAC20
’ o VCA pre 39%~40% ,
’ 3.2 1
Ve » ) o 3.2.1
, SAC20
I
SAC20
/mm 26.5~16 16~9.5 9.5~4.75
G."'/(g/cm?®) 2. 654 2. 653 2. 649 2. 602 2.602 2.732 3. 000
G,/ (g/cm®) 2.618 2. 615 2.603 2. 499 2.528
/% 29 25 12 21 7 2 4
Gp=1.031 g/ecm?; * 1
4 p
P..—66%, . ?32+3. éoo 1 OH31 )
Ghru=2.614 1 g/cm’; P B ,
28% , Gy ;a=2.506 2 g/cm’; _ 6
Pi=6%, G,=2.732 g/ecm?®, 2:905.0 7
G,=3.000 g/cm?, G pi= (5, ;
(2-44)/(2/2. T32-4/3. 000) 1 =2. 905 0 g/em’. 0.229 5 P,=0.399 0 P,,+0.344 2 P,,+4.461 7
VCApee=140% » V.=4%. (6)
( )P, — P.=66%.P.,=28% P;=6%
4.6%. 6) . 15.148 2%,
3.2.2 N VCApro
, 3) 15.148 2% 11.172 34-2. 065 4+
. 4.461 7=17.699 4, .
GCApe=2. 614 1X (1—0. 4) 17699 474, ’
=1.568 5 (g/cm®) :
(4, :
(1.§é%5)x (O'4O*V"):%+ . 1,




Gy ow=2.611 56 g/cm?®,G, ;,=2.506 22 g/cm®
G. 1 =2.906 45 g/cm®,GCApe=1. 566 94 g/cm®

4

[ 70.5
( 1. 566 94

4

(C/DI

J X (0. 4—0. 04)=16.197 17(%)

9.217 07-+2.202 00+4. 461 7=15. 880 77(%)

[ 70.5
( 1. 566 94

4%,

0.4—V,=0. 353,

V.=4.7%

’

J X (0. 4—V,)=15. 880 77
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> Pi=6.4%;
0.399 0 Py, =15.148 2—2. 065 4—4. 461 7 Py=4.6%.
=8.6211 @) , 28%
(7)) Pn=21.6%, 23.1% 4.9% 66 %
: 70.5% 4.5%,
P.+P,+Py (D s, P 0.4%.,
+P;+Pi=66%+21.6%+6%=93.6%, (SAC
3 0.936, »( ,2005 ., 1 )
Pm:70-500§ 0 2( 1)0
P;=23.1%;
2 SAC20
(mm) /%
26.5 19 16 13.2 9.5 4.75 2.36 1.18 0.6 0.3 0.15 0.075
1 100 97.5 84.1 71.2 53.6 29.5 22.8 17.7 13.8 10.7 8.3 6.4
2 100 97.5 84.3 71.6 54.2 30.1 23.2 17.9 13.9 10.7 8.3 6.4
3 100 97.5 84.6 72.2 55.0 31.0 23.7 18. 2 14.0 10.7 8.2 6.3
4 100 97.5 84.5 71.9 54.6 30.6 22,8 17.1 12.9 9.6 7.2 5.4
5 100 97.5 84. 2 71.5 54.1 30.0 23.1 17.9 13.9 10.7 8.3 6.4
6 100 100 86. 1 72.9 54. 8 30.0 23.1 17.9 13.9 10.7 8.3 6.4
2 4.6% 2 4.0% 6 4.0%
.69 ; 3 3.8%; 4 4.6%; 5 2 1 , 3.
3 1
/mm 26.5~16 16~9.5 9.5~4.75
/% 15.9 30.5 24.1 17.3 5.8 2.1 4.3
3.2.3

b

P,./2.506 22=16.197 17—2. 202 00—4. 461 70
:P,=23.9%,

P, =69.9%,P,, =

23. 7% Pr=6.4%:Py=4.6%,

( 2),

2 2 ) 4,
Gyw=2.611 52 g/cm®,G,. ;,=2.506 16 g/cm?,
G.. ;i =2.906 45 g/cm’,
GCApre=0.6X2.611 52=1.566 91 g/cm’
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2
/mm 26.5~16 16~9.5 9.5~4.75
/% 15.7 30. 1 24.1 17.8 5.9 2.1 4.3
(4) o P[gzl- 97%
4) , s
' 69.9 , .
(WJ X (0. 4—0. 04) =44. 610 09X 0. 36
' =16.059 6 (1 . SAC20 Py=4.6%,
4) o Py=3.8%,
23.7/2.506 16+6.4/2.906 45-+4.6/1. 031 ; ,
=16.120 39(%) 4,

0.40—V, =1.566 91X16.120 39/69. 9=0. 361 36

15.149 2%,

Py./2.506 16 =15.149 2—2. 065 2—3. 8/1. 031

V,=3.864(%), . =9.398 3
) VCAprr :P,=23.6%.,
, N 3 .
, VCApkr 66% 423.6%+6%=95.6%.
3.2.4 P.=69.0%, P,=24.7% ., Prp=6.3%;
SAC20 Py=4.6%, Py=3.8%,
, 3.2.2 2« 3.
, : (2) o
Py/1.031 =15.149 2—11.173 2—2. 065 2 2 3 , 5,
=1.910 8
5 3
/mm 26.5~16 16~9.5 9. 55-4."75
/% 15.4 29. 6 24.0 18.5 6.2 2.1 4.2

Gpea=2.6115 g/em®, G, . =2.506 2 g/cm?,
G, i=2.905 0 g/cm’
GCApre=0.6X2.611 5=1.566 9 (g/cm®)
)
€9 :
(69/1.566 9) X (0.40—0.04) =44.036 0 X
0.36=15.853 0(%)
(4)
24.0/2.506 2+ 6.3/2.905 0+ 3.8/1.031 =
15.710 0C%)
, V. .

0.40—V,=15.710 0X1.566 9/69. 0=0. 357

V.=4.3%
V. 4.0%,
, , Pp=
4.0%, V.,=3.9%,
3.2.5
; . ; (8):
0.229 5 P.,=17.699 4 (8)

P.,=77.1(%),

P.=69.4%,P;,=25.2%,P;,=5.4%;:;P,=4. 6%,
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2 ( 4), 2 4 , 6.
6 4
/mm 26.5~16 16~9.5 9.5~4.75
/% 15.5 29.9 24 18.9 6.3 1.8 3.6

Goi=

Gpow=2.6115 g/ecm®, G, s, = 2.506 2 g/cm’,
2.905 0 g/cm®;
GCApre=0.6X2.611 5=1.566 9 g/cm®,

4

4) :
(69.4/1.566 9) X (0.40—0.04) =144. 291 3 X

o s

Py./2.6052 =14.486 4—6/2. 905 0—4/1. 031
=8.541 3
:Py,=22.3%,
:P,=70%,P, =
23.6%.Pr=6.4%;:Py=4.0%,

2 ( 5.
0.36=15.944 9(%) . VCAprr
4) s Py, s P.,
25.2/2.506 24 5.4/2.905 0+ 4.6/1.031 = Py Py, P, P )
16.396 4(%) . ;
0.451 5(%), ,
V. 4%, ) .
0.40—V,=16.396 4X1.566 9/69.4=0.3702  3.2.7 Dy, 100%
V=30, (SAC
o » , ,
) . Diax.n 100% .
. 2 5 s D, =100% 4
3.2.6 VCApe 39% 2« 6).
SAC20 . 5
VCApre=40%, ) , Gy =2.611 5 g/em?®, GCApre = 0. 6 X
, 39%. VCApre= 2.611 5=1.566 9 g/em®, VCApw=16.082 7% ;
39% . 6 Gy ow=2.6113 g/cm®,GCAppe=0. 6
VCApre , X 2.611 3=1.566 8 g/em®, VCApw=16.083 7%,
s VCApre . 5 6 .
VCApre=(1—0.39G, ., =0.61X2.614 1 . 0.001% .
=1.594 6 g/cm’ .
4 : 3.3 2(SAC13)
66/1.594 6(0.39—0.04)=41. 389 7X0. 35 SAC13 7.
=14. 486 4(%) Gyo 7 4.75 mm
4 17.699 4% ( 3.2.2), ,4.75 mm
Py=4.0%, .
7 SAC13
/mm 13.2 9.5 4.75 2. 36 1.18 0.6 0.3 0.15 0.075
/% 97.5 67 30 24 19 16 13 10 8
G/ (g/cm?) 2. 975 2.961 2.908 2. 638 2.614 2.612 2. 605 2. 602 2. 601
Gy Gys  4.75 mm 2.908 9.5~4.75 mm Gy,
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3.3.1 . r., | - . Ps
(71'75994J><<o.40 0.04) = gbme +
P P
(9 (10 . fi B
| . 2.747 " 1.015 (D
\ r, r, Py s !
Gh‘m:‘Gbm G/>.9+..'+G/7.4.7r i (11) ’
(P, 4Pyt Pyo) (9) 14. 318 67%
: Py s 903 N 14.318 67%;
r, W Y% 3Py 9.5~4.75 mm 8.409 30 + 2.912 27 +4.300 49 =
7%?Gb.1\Gb.2”'Gb.1.75 PP, 15. 622 06(%)’ N
P, s ,g/cm?’, 15.622 06 %, . s
G, = P2.3(3+P1.13 +_..+Po.<>7s 71>< °
s Ghozs o Guis G001 70 % (0. 40—V.)—=15. 622 06
(P243(5+P1_1g+"'+Po,o75) (10) 1~ 759 94 : “ ’
: Pogss Proags o Poors 4.75 ~ 0.40—V,=0.392 77

2.36 mm,2.36~1.18 mm,1.18~0.6 mm,0. 6~
0.3 mm,0.3~0.15 mm,0.15~0. 075 mm 6
s Y6 3Go. 036+ Gor1s~ 2 Gooo. 015
6 ,g/cm?,
s 7 8,

/mm| 16~13.2 |13.2~9.5|9. 5~4.75 4. 75~2. 362. 36~1. 18

/% 2.5 30.5 37 6 5
/mm 1.18~0.6 | 0.6~0.3 | 0.3~0.15 |0.15~0.075
/% 3 3 3 2
9 Go.ca:
. [ 2.5 | 30.5 37 |
= | 2. 975 " 2.961 | 2. 908) <
(2.5+30.54+37)=2.933 24 g/cm?
(10) Gy fus
Gup= (645434 343+2) X | 5ooe 50+
bt 2.638  2.614
3 3 3 2 !
2. 612+2. 605+2. 602+2. 601)
=2.616 16 g/cm’
Pm:70%9
P/;I:ZZ%, P/’i:8%9 Ga.j/:

2.747 g/cm?, Py=14.365%,
Gy=1.015 g/em*,V,=4%,
VCApre = 40% ’

G(;A[)RC: 2- 933 24 X (1 -
0.4)=1.759 94 g/cm®

3.3.2 4, an

V,=0.72(%)

3.3.3
VCA[)RF ’
P,/2.616 16 =14. 318 67—2.912 3—4. 300 49
=7.1059 a2

12>, Prn=18.6(%)
P.+P;+P;=70+18.6+8=96.6(%)

P..=70/0.966=72.5(%),
P,=18.6/0.966=19.2(%),
P;=8/0.966=28.3(%);
Pp=4.365(%),

VCApgr .
€] o

72.5/1.759 9(0.4—0. 04)=41.195 5X0. 36
=14.830 4(%)

19.2/2.616 15+ 8.3/2.747+4.365/1.015=
7.339 04+3.021 5+4.300 5=14.661 0(%)
9VU ’

41.195 5(0. 04—V, ) =14. 661 0
0.4—V,=0.3559
V.=4.41%

Pas
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V(jAI)RF o 97 o

Pr./2.616 15 =14.830 4—3. 021 5—4.300 5
=7.508 4
:Pr=19.6%.,
:P.=72.2%,P;,=19.5%,.Pp=
8.3%;:;Py=4.365%,
3.3.4
an.,
0.364 03 P, =14.318 67—8.409 30—4. 300 49
=1.608 88
Pr=4.40%),
:P.=72.6%,P;,,=22.8%.,P; =
4.6%;Pp=4.365%.

o

(0.40—0.04) X 72.6/1.759 9=141.252 3 X
0.36=14.850 8(%)

22.8/2.616 15+ 4.6/2.747 4+ 4. 365/1. 015 =
8.715 10+41. 674 55-+4. 300 49=14. 690 14( %)
V.=4.21%.,
Py, :
P,./2.616 15 =14.850 8—1. 674 55—4. 300 49
=8.875 8
:Prn=23.2%,
:P=72.3%,P;,=23.1%,P;=
4.6%;Pp=4.365%.

3.3.5 o
SAC13 s
( ) 4.365% , .
4.6%( 4.49%),
8%
(D o
11
0.382 2 Py, =14.318 67— 2.912 3—4.6/1.015
=6.874 35

:Prn=18.0(%),
:P=72.9%,P;=18.8%,P; =
8~3%;P1s: 4. GVO

(0.40—0.04) X 72.9/1.759 9 =141.422 8 X
0.36=14.912 2(%)

18.8/2.616 15 + 8.3/2.747 = 4.6/1.015 =
7.186 14+3.021 5+4.532 0=14. 739 6(%)

, V.=
4.42%
Py, :
Ps,/2.616 15 =14.912 2—3.021 5—4.532 0
=7.3587
:Pr=19.3%,

:Pw:72~5%7P/a:19~2%,P/,':
8.3%;P1;:4-6V0

(2) .
an
Pyi/2.747 =14.319 0—8.409 1—4.532 0
=1.377 9

:Pr=3.8(%),
:P,=73.0(%),Ps,=
23- O(%),P/,':Zl- O(%);PI;:4~ GVO
3.3.6 VCApre=41%
VCADR(?:41% ’

GCApre=0.59%2.933 2=1.730 6 g/cm?,
Py=4.6%,
4
(0.41—0.04)70/1. 730 6 =40. 448 4% 0. 37
=14.965 9(%).

4 :
8.409 1+2.912 3+4.453 2=15.774 6(%)
’ (4) ’ Va

0.41—V,=15.774 6X1.730 6/70=0. 39

V,=2.0(%),

P :
Pr./2.616 2 =14.965 9—2.912 3—4. 452 3
=7.601 3
:Pr=19.9(%).
:P..=T71.5%,P,=

20.3%,Pr=8.2%;Py=4.6%,
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. (1)SAC13 .
. SAC13 G,
3.4 3 9 .
9 SAC13 G,
/mm 16 13.2 9.5 4.75 2. 36 1.18 0.6 0.3 0.15 0.075
/% 100 97.5 67 30 19 12 10 8.5 7 6
Gy/(g/cm?) 2.997 2.998 2.974 2. 669 2. 644 2.617 2.612 2. 608 2. 606
9 Gy Gy, 4.75 mm Gy 2.974 4.75~9.5 mm
Gy,
9 , P.= :
70%, P=24%, Py=6%; Py=19.3%
Ghoe=2.985 2 g/cm?, .
Gy a=2.647 2 g/cm®, P=73.5%,Pr=20.2%,P,—=6.3%; Py—
, G..i=3.056 g/cm’, 4.7%.,
Gy=1.007 g/cm?, , .
(2) Py=4.7%, .
GCApre = :
1. 799 g/cm’( , Gyoo=2.985 6 g/cm*, G, ;, = 2.634 6 g/cm?’,
) GCApre=1.799 1 g/cm?, o
2, VCApre=1— 2?'92292 :
0. 397 4(59. 73%) (0.397 4—0.04) X 73.5/1.799 1=0. 357 4 X
3 O 40. 853 8=14. 601 2( %)
4), (13):
P P, 20.2/2.634 6 + 6.3/3.056 + 4.7/1.007 =
(1, 799J X (0.397 4 = 0.04) = 5=+ 7,667 24+2.061 5+4. 667 3=14. 396 0(%)
) , ) V.=
3.1)0fé6+1.12>167 a2 ™ 50% .,

13
13.906 6% .
13.906 6% ;
9.066 2+1.963 30+4. 667 33=15.697 50,

15.697 5%,

o b

(0.397 4—V ) X (70/1.799)=15.697 5
(0.397 4—V,)=0.40

V.=—0.6%
(4) .
13),

P;./2.647 2 =13.906 6—1.963 3—4. 667 3
=7.260

Ps./2.634 6 =14.601 2—2. 061 5—4. 667 3
=7.872 4
:P;,=20.5%,
:P=72.6%,P;,=20.2%,P;=
6.2% 3 Pp=4.7%,

(5) . (SAC
)
, 13. 2 mm 97.5% +4. 75 mm
26.7%,0.075 mm 6.3%,
3 ,
d, 1.274 6
P,=124. 59( 16)
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/ d \ 0.346 3 .
P(,,=26.5( i ) :
4.75 P./2.647 24+P./3.056+Py/1. 007
° =20.9/2.647 2-+6.2/3.056-+4.4/1. 007
(6) 4.4%, _ _ 0
—=7.895 1+2.028 8+4.369 4=14.293 3(%)
. (13)
Pfu’ H
0.377 8 P;;=13.906 6—1.963 3—4. 369 4, Pou/2. 647 2 —14. 482 T—2. 028 §— 4. 369 4
—=90. 05
P=20.05% —=8.084 5

:P,=72.9%,P;=
20.9%,P=6.2%:Ppy=4.4%,

:Pfu:21‘ 4Vo

P<’u:72'6%9[)7')4:21'2%’Pfi:6'2%;PH:

4.4%,
72.9/1.799 X (0. 397 4—0.04) =40. 522 5 X VC A SACL3 o .
0.352 4=14.482 7(%)
10 VCAper SAC13
VCApre/ % /% /% /% /%
1 Py, 40 72.2 19.5 8.3 4. 365
2 Py 40 72.3 23.1 4.6 4. 365
3 Py, 40 72.5 19.2 8.3 4.6
4 Py 40 73.0 23.0 4.0 4.6
5 Py, 39.7 73.1 20.7 6.2 4.7
6 Py, 41 72.6 21.2 6.2 4.4
7 Py 39.7 71.5 20. 3 8.2 4.6
) 6 6 5
10 . 2 4 . . Do
. SAC13 . ;
, 71% ( 1

CCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCCECCCECeCeCeeeee<

( “7918 ) s
~ ’ 8 5 kmy 6 8 kmy N
1.7  km,
7
9
18
, R . N R 5 2



